4-POST STYLE "B” TOWERS

-2~
2" & 2-1/2" ANGLE - 22', 28', 33", 39' TOWERS
o " T~—HOLES FOR BED PLATE
(8) 3/8" X 374" Capscrwsq..,___“‘; HOLES FOR STORM STAY
o 4 Quiside Girts - 1" X 9" —|ﬂ1 GIRT!
(4) 5/16" X 1-1/2" w3 il
Carriage Bolts for Platform Boards 4 Platlorm Boards for 2" Tower - 1" X 8" X 32"
- t B o fG% Tanyaw “
P e
" X 1" Capscrews : e it
10) 8 P : 2 Platform Supporls for 2-1/2" Tower - 1-174" X 45
4 Top Corner Posls - 2 X 2° X 1/8" X 11’ i (4) 1" X 14-1/4" Girts -|}# 2 GIRT
. oy (8) Mo, 9 Brace Wires - 5'-1-3/4""
(8) 3/8" X 1" ga%screws for Braces )
(16) 3/8" X 3/4" Capscrews fof Splice— " X 2°-1" Girls 28' ¢
(8) 3/8" X 1" Capscrews for Girt & Brace -} @1 #3 GIRT 1 Top Secti Y
Guide Rod on each side.of Ladder[ op Sectiop
29' 1 Long Sectign”

4 Extension Cofngr Posts -
Top Section 27 X 2" X 18" XI11'-4%
Long Section e L

i "
(8) 3/8" X 1" Copscrewsslor Girts-

(8) 3/8" X 1" Capscrews for Bra‘éﬁ;
(16) 3/8" X 3/4" Capscrews for 5
(8) 3/8" X 1" Capscrews lor Girg

| Guide Rod on each side dl"taddori

For 28 Foot Tower, use
4 Extension Corner Posls -
2% X 2 X 1/8" X 5-10"

Erﬂcn

- —

8 - Mo. 9 Brace Wires - 10°-9-3/4"

(4) 1" X 3'-2-1/4" Girls ~|N GIRTI

Ladder is made up ol sections 5’ - 7" long
Bolt to girls with (2) 5/16" X 3/4" Carrriage Bolls

M—{4) 1-1/4" X 4'-3-3/8" Girls -[i5 GIRT]

o=t
For 22 FoolJower, use 4 Wood Girts
2" X 4" X 4" 2-1/8"

(8) No. 9 Brgr:.e Wires - 11" - 2"

1 Short Section.

8) 3/ o for B R B,;e ‘f"f; ’ Gin -7@1;2"
(i 8" X 1" Capscrews lor Brace: (4) 1-1/4" 5/8" Girts -
(8) 378" X 1" Capscrews for Girls L B
33’ AR T e i For 28 Faol 'rmer. use 4 Wood Glrls 3b
. Top Section 4 Extension Corner Posts - peter—¥ LA X S 41D 1 Top Section
2 X 2" X 18" X 114 ~ it
Long Sections ll' 2 Long Sections
l (8) 3/8" X 1" Capscrews for Eragss Pav 1 Short Sgcllon )
(16) 3/8" X 3/4" Capscrews for Splices i . @) 1 I!-i‘*)(ﬁ‘ 5-7/6" Girts - (7 GIAT] )

(8) 3/8" X 1" Capscrews for Girts & Braces

For 39 Fool Tower, use
4 Extensioh Corner Posis -
¢ X 2" X 18" X 510

(8) 3/8™ X 1" Capscrews for Braces
(8) 3/8" X 2-1/4” Carriage Bolls - (G',[“"

Faor mout?bner, use 4 Wood Girls
el SN 2% X 4" X 6 5-3/8"

(8) N“p_J'Q Brace Wires - 12' - 2"

u.’

4 Corﬂer Clamps - 1-1/4" X 1/8" X 9-1/2"

l

— GROUND LINE:

4 e

& Anchor Posts? || FASTEN LOW
2" X 2" X 1/8" X 5'-0»-‘

(8) 1/2" X 1=
Capscrews for Plalcs,\

JTE: 2-1/2" CORMNER POSTS SAME LENGTH
AS COMPARABLE 2" CORNER-POSTS.

LADDER TO WOOD GIRT
_WITH (2) 16d NAILS AND
BEND OVER ANGLE

For 39 an{ Tower, use 4 Wood Girls
-

mR END OF X 4" X T 6-1/2"

Slant 5 foot Anchor Posts 8-1/2"
toward center of Tower

“"“‘5 Anchor Plales - 2" X 2" X 1/8" X 12"

NOTE: Length of all braces given, is
center to center of bolt holes.

DISTANCE FROM-OUTSIDE TO OUTSIDE OF TOP OF ANCHOR POSTS

oo

* HEIGHT OF THE TOWER

I RE1
FIGU T

39 e

4'—8:3/4" | 5 -5" |

6 -B-1/4"| 7 - 7-1/4"

LR

L8

/\
DEMPSTER 4-PO

22’

i,

STYLE "B" TOWERS

2" & 2-1/2" ANGLE

LT Linds

- PLEASE REMOVE THIS MAN&JAL AND STUDY THOROUGHLY

BEEQRE

 PROCEEDING TO ASSEMBLEAND ERECT THE TOWER

t’\h!f“s FER HELWSTRIES IMD., RBealr me,j:eﬂwasﬂm GEING [oQ2) 223-4026

- o

Form 763, Rov, 1—3!BDJ




4-POST STYLE "B" TOWERS

BUILDING TOWER FROM THE GROUND UP

CORNER POSTS

“he top corner posts for all Style “B" towers are 11
ang and have the two upper holes for the bed plate
nd storm stay punched in the corner of the angles.
‘he 22 & 33 {t. towers are made up by the use of
xtengion corner posts 11'-4" long. The 28 & 391t.
aswers have a shorl bollom section with corner
«0sts 5'-10" long.

‘he two sets of end holes of corner posts are for the
plice. ThenextsetofholesaboveIh@ﬂcltom..pllce
; for the braces above. The next set Gf holes below
e upper splice is for the girt andbrambeiow See

orner post splice, girt and brace corfection detail
s illuslraled in Figure 3. L
W
ECCENTRIC [ag
WASHER o
(Casl iron)
BAACE WIRE

(Large Loop)

FLATWASHER

BAACE WIRE
(small Loop)

FIGURE 3

InT

NCHOR POST
ES NOT HAVE
FHIS HOLE)

SPLICE/GINT/BRACE WIRE ASSEMBLY

-naa

TOWER BRACES [0
| towers have a sel of braces every 5£:112 feet.

3it the upper ends of the braces to lhe;.urﬁ& posts
gether with aset of girls. Boltthe loware to the
{ of holes above the splice bolls, ofto the. holes
ove the intermediale girts, Install he accentric
1shers in the largest loop in the braga,.(The.brace
1y be placed with the large loopin euhef théupper
lower position.) Use 3/8" X 1" capscrews and
its for each end and a sleel washer oVEf.wifgon the
d having the small loop. Refer to @gure’f!.
»

>
o

TO TIGHTEM BRACES

Always leave eccentric washers in the loosest
position, until the whole sel of eight braces is in
place, then tighten them evenly. Do not turn one
clear around and the next one only partially. Never
tighten braces any more than to take all slack out of
them. Tightening the braces too much springs the
girts and weakens the lower. The eccentric washer
does not have to be turned completely around to
hold the brace tight. Securing the bolt nut will keep
them from turning backward and loosening brace.

LADDER

One girl in every sel of four has two holes to atlach
the ladder. Be sure to place this girt on the side
ladder is to be. Use two carriage bolts (5/16" X 3/4")
for the end of the ladder, which may be placed either
end up. It is best to place the boll head outside of
ladder and the nutinside the girt. In making the lap,
always place one of the side bars above and one
below the next section. The lower end of the ladder
may be fastened lo wood girl with lwo 16d nails.
Drive one on eagh side of ladder close to angle and
bend over. .

NOTE: By anér;;}zmg hooks to the lower ladder
secltion, this seclion can be hooked up to the next
higher girt to kqg;gjchﬁo‘ren fromclimbing the tower.

"R
e~

ofrTOM GIRTS

The battom glqka woad girt, which is placed with
the beveled ends-insitle of corner angle. just above
the brace bolt.” Balt Hent clip around the outside of
corner posts ufider h:aces and boll to wood girts
with 3/8" X 2-%/47 qa\rlagc boits, as illustrated in
Figure 4. -

200
»

st
,;—

CORNER

3/8" X 2-1/4"
CARRIAGE BOLTS

wooD
GIRT
ANCHOR
POST
FIGURE 4

BOTTOM (WOOD) GIRTS

R

4-POST STYLE "B" TOWERS

e

ASSEMBLY

The Dempster Style "B” Tower has been designed
for easy erection. They are made in 11 & 5-1/2 foot
sections that can be completely finished before the
next section is started, since the girls are secured
below the splice of the corner posts. Also, this lower
with a spread of only one-fifth of the height, requires
small space and can be erected between trees or
“buildings - wherever there is room for anchor posts.

THE HEIGHT OF THE TOWER

Never place a windmill on too short a tower and
expect satisfactory resulls. The safest and best
place for a tower and windmill is where the wind can
strike it fairly from every direction. The top of the
tower must always be 15 to 20 feet higher than any
obstruction to the wind, such as trees or buildings,
within 400 feet of the mill. This guarantees it will
run whenever there is wind enough to turn the mill.

ERECTION METHODS
One of two erection‘methods may be employed to

install the tower. Jﬂé

1. Build the tower ir&n the ground up and raise the
engine to the tog\_pf lhe standing tower.

2. Assemble the toler

nd engine completely on

the ground andfetechwilh lifting equipment.

BUILDING TOWER::EHOM THE GROUND UP

EQUIPMENT REQUIRED e"u!

Less equipment is required to build a tower from'tHg
ground up than to raise the assembled tower a{gg
engine. A few wrenches, a hammer, a punch, arepe
as long as the height of the tower and a few plan k;m
sufficient length to reach across the lower girts are
all the equipm@nt needed.

‘| STEEL ANCHOR POSTS
AND ANCHOR PLATES

w2 x1’
CAPSCREWS

FIGURE2 =

SETTING THE ANCHOR POSTS -

77
One of two methods may be used lo set anchor.
posts, depending on erecting methods. s

ot

1. Dig holes and rest posts on solid footing.

2. Set the anchor posts in concrete to ground level. |
If the latter is followed, the tower can be sal..
about one foot higher, allowing more head room
under the tower girts for a person to walk under. =
Wood girts may be left off on this type Di:-m\
installation. However, they must not be left off = b=t
unless the anchor posts are sel in concrete, , .

(If Methiod 2 is employed, the ladder is fastened at®_

the lower end'lc two stakes driven into the around

__METHOD ONE

Lay off the center for the anchor post holes about
" 10" more than the length of the wood girts. Dig
holes about 2-1/2 feet square and about 4" less in
depth than the length of the-anchor posts, if the
ground is solid. If the ground is loose, dig a little
deeper and place some rock‘or concrete under the
anchors. IttslmpcrtanllhetMrhavesolidfoohng

METHOD TWO L

The more desirable meihud”i; tp set the anchor
posls in concrete. Use a Iarge post hole digger and
dig holes about 4-1/2 feet deeps With a spade or bar,
widen the hole on two sides, efough to let down the
anchor plates. Englarge lho»hole fat the bottom to
give good footing. Run about Gne 160t of concretein
the holes to sel anchor postsGne foot higher than
Method One, so they will project above the ground
level from 12" 10 18", ==

1

Assemble and set anchor pd!t‘! as follows:

Bolt lwo anchor plates to eacﬁmchorpo.-;iwﬂh w2
X 1" capscrews and nuts (Figure 2). Set anchor
posts in holes, so the upper outside corners of
anchor posts are about 7/8" farther apart than the
iength of the wood girts. A 5 ft. anchor post should
‘Slant 8-1/2" toward the cenler of the tower to give
_'fhe proper slope to the corner posts - 6 Fl. anchor
post should slant about 10-1/4". Be sure the posts
“are all the same distance apart and the same
1 distance from the center of the well or pump. Level
_lop of anchor posts with spiril level. DO NOT
~GUESS ABOUT THIS! Itis a good plan ot to fill
:holas until the lower section of tower has been
bolted together, as this gives the anchor posts the
proper slope and distance. The exacl distance for
the anchor posts of the different towers is also given
in Fiaure 1 an pane 2.




6 4-POST STYLE "B" TOWERS

BUILDING TOWER FROM THE GROUND UP

SECOND SECTION

1e second section and any succeeding ones are
ways sets of four regular posts until the top section
reached.

lise planks to top girts and proceed to bolt on
other set of corner posts. This can easily be done
- one man sitting or standing on the upper plank
d sliding or raising the corner post along the
tside of the lower corner post, whil@the second
1n, standing on the girts below, putsin the bolts
it as soon as corner post is raised high enough.

ter the four extension corner posts afe bolted on
lid, attach the next set of girts and a ersection
the ladder. Then, place plank acros.thege girts
gure 7). The top girts may now Ixzqued on,
jether with the braces as beforefand another
stion of the ladder. Tighten all bolls and braces o
ish the second section. If the towerighigher than
foot, build on one more section I'rkg:!hisn;-ne,
=

-y

-

OR CARRIAGE BOLTS

TOP SECTION (—'

Bolt the 11 foot corner posts for the top section the
same way as the others. Bolton the 14-1/4" girts, the
shortest sel of braces and the last section of ladder,

PLATFORM BOARDS & SUPPORTS

Attach the two platform supports with 3/8" X 3/4"
capscrews and nuts, plus the four outside step girts
(9" long) with the same size capscrews and nuts.

Tighten all bolts up to this point and finish the
platform, as shown in Figure 8.

BOARD LENGTHS
32" — 2" Tower
48" — 2-1/2" Tower

THIS BOARD WITH CUTOUT
MUST BE ON LADDER SIDE

MAILS
{Clinched)

| 516" X 1-1/27
| CARRIAGE

z H BoLTS

PLATFORM
BOARDS

PLATFORM
SUPPORTS

oS

FIGURES

4-POST STYLE "B" TOWERS 5

- BOTTOM SECTION
22 & 33 FOOT TOWERS

Bolt a 11'-4" extension corner post lo each anchor
post. Always lap the lower end of each corner post
over the top end of the next lower post, using four
3/8" X 3/4" capscrews and nuts lor each splice (see
Figure 3). Bolt one of the longest steel girts to the
center of each post as they are put in place. Use the
3/8" X 1" capscrews and nuts. Mext, place thqmood
girts inside of the corner posts, just above the-holes
above the lower splice. Place a 3/8" X 1" capscrew
and nutin this holeand allow wood girt to restop the
bolt head. Now, bolt corner clamps around the
posts and attach to wood girts (Figure 4).

Temporarily bolt one section of the Iadde#_;yvi&f;
either end up, to the steel girt. Use one 5/16”" 5_(8!4'_
carriage bolt, with the bolt head outside o

addar—
and the nut inside the girl. Place a plank across the".
steel girts for the man to work on (Figure 5). Boiltther
next longest set of steel girts & brace wires. just’
below the next splice holes inside of upper ent of
corner posts (third hole below top end). Use@/8" X"
1" capscrews & nuts, plus an eccentrie: or'’
flatwasher, as appropriate. . M

Bolt the lower end of the brace to the hole, justabiove
the lower~splice. Use 3/8" X 1" capScrew,

appropriate.washer and nut.

BOTTOM
SECTION

After all of the four girts and the eight braces are
bolted in place, turn the eccentric washers with a
wrench to tighten the braces. Tighten all braces
equally.

Bolt another section of the ladder in place, either
end up, Be sure all bolts in this section are
tightened to complete this seclion, which will now
be rigid & secure to work on (Figure 6). ! the
anchor holes have not been completely filled, do so
at this time. Double check level of girts & centering
of tower over well. Tamp dirt firmly & thoroughly.

—
e = A\l =2
: i =
o FIGURE 6

BOTTOM SECTION(Z2' & 33') COMPLETE
>

BOTTOM SECTION
28 & 39 FOOT TOWERS

The botlom section of these towers consists of 4
extension corner posts 5'-10" long. Bolt these to the
upper ends of the anchor posts. Then attach the first
set of steel girts. Next, bolt on the wood girts and
corner clamps (as described on page 4), plus one
ladder section. For 28' & 39' towers, lhe second
section(s) — Figures 5 & 6 — will be assembled on
this bottom section as shown in Figure 1.

P
ALWAYS USE PERSONAL & EQUIPMENT SAFETY @
PRECAUTIONS WHEN WOQORKING ON WINDMILLS AND TOWERS.

@ CAUTION:




4-POST STYLE "B" TOWERS

BUILDING TOWER FROM THE GROUND UP

GUIDE RODS & WOOD PUMP POLE

Attach the shorter guide rod to Girt #3 and the
longer guide rod to Girt #i5, as described below.

= “FIGURE1D
w

e
GUIDE RODS, USED ON #3°& N5-GIRTS
{Assembly viewed rcgmbnu,;

-

NOTE: o
For long sirokes (8 in. or morefyihe upper 20 fool
guide rods (Girt #3) should he;;s,lt off, as they give
too much oscillalion o the wgod-pump pole.

Bolt the hinge casting to the underside of girl with
nook bolt and adjust along girt so pump pole will be
in center of tower, Bolt guide rods to pump pole so
they will be in a horizontal position when mill is in
center of stroke. Bore hole through wood pole and
install a 5/16" X 2-3/4" or 3-1/2" carriage boll
through the steel plate and pump rod casting, with
the ends of the guide rods placed in the two grooves.
Secure with two nuts, locked logether tightly.

All items illustrated at right are furnished with the
Tower Assembly, excepl the Pufip Rod Assembly,
Pump Connection and Adapter —they are supplied
with the Windmill Engine :1ssemp!?.

* Ufy

i AND ADAPTER
,j’._[FurnIshe-d writh Windmill)

PUMP ROD ASSEMBLY
(Furnished with Windmil)

WOO0D
PUMP POLE 09®
GROUP
ASSEMBLY
0@ []
PUMP ROD  STEEL
CASTING PLATE
oy it N
DOUBLE ~ 1@], 1
NUTS

e, PUMP CONNECTION 2

FIGURE 11

4-POST STYLE "B" TOWERS -7-

BUILDING TOWER FROM THE GROUND UP

r‘) BED PLATE AND STORM STAY INSTALLATION

Naprse”

Insert the storm stay for the windmill belween the
corner posts from below. Pushordriveitup until the
4 capscrews and nuls (3/8" X 2-1/4") can be put in
place, with the steel corner washers outside.

Attach the bed plate with 4 capscrews & nuts (1/2" X
2") and one set of cast iron angle washers inside,
For the smaller sizes of bed plales, a pair of pliers«
may be needed to put in the bolts. The tower is nowi..
ready for the mill. See Step VI in Form 2593 or Forﬁ‘l’;
647, Windmill Installation Manuals. !

Install the engine and wood pump pole as describe
in Steps VI through VIII in manuals listed above

\ﬁl.g‘ﬁ
e,
e
-
OPPOSITE
LEGS M

OVERLA
INSIDE SET |

e

o 1
LT

o=

OUTSIDE
CORNER
WASHER

FIGURES .

BED PLATE & STORM STAY ASSEMBLY

" INSTALL THE ENGINE ON A STANDING TOWER

It is recommended that the lift equipment be
securely altached lo the main frame in such a
manner that the hood and brake rod assembly are
protected during the lifting operation.

DO NQOT LIFT BY THE VANE OR TAIL

Tie the wheel securely, or fold vane and tie, before
starling the hoisting operation.

It will be necessary to raise the engine assembly
approximately 5 feet higher than the final position,
for safe insertion of the pump rod and pipe stem,

:-°ri;ower the pipe stem carefully into the bed plate and
“storm slay. The ball race assembly will rest in the
" bed plate and under the engine. Remove the bearing
locating string or tape before engine islowered fully
fﬁlnto position. DO NOT REMOVE ASSEMBLY TAPE
_YET. Locale the grease fitting opposite the brake
;:ynkage for easier service access.

“Bolt the clamp collar around the pipe stem, snugly
against the bottom of the storm stay. Cut the
original assembly lape. —

o=

Bolt the pullout swivel casting around the end of the
pulloutl tube, belween the~washers already

. assembled on the tube. Align the small arm (which
keeps the pullout lube from fallowing the engine
rolation), next lo the cornef. Postron which the
pullout lever will be installed. 20 T

o~
Do not untie the wheel or vangassembly at this time.
Engine mus! be thoroughly oiled belere the wheel is
allowed to rotate. —n

SEE FOAM 2539 — WINDMILL ASSEMBLY
INSTRUCTIONS — FOR MORE COMPLETE
DETAILS OF THIS INSTALLATION PROCEDURE,
PLUS THE FINAL INSPEC'FI_QN' OILING AND
ADJUSTMENT STEPS. -

-

CAUTION:

ALWAYS USE PERSONAL & EQUIPMENT
SAFETY PRECAUTIONS WHEN WORKING
ON WINDMILLS AND TOWERS.




Ao- 4-POST STYLE "B" TOWERS

RAISING THE TOWER/WINDMILL ASSEMBLY

While this tower is manufactured so it can be easily
built from the ground up, it may also be assembled
on the ground and raised to it's vertical position.
Many prefer this procedure and it has this advantage
- the windmill and wood rod can be assembled and
instalied on the tower before the tower is raised.
However, more equipment is required for this
erection method.

SETTING ANCHOR nggs*rs

Follow directions given for this m page 3. Some
prefer to set anchor posts aiteuower has been
raised. In this case, assemble tower, after digging
anchor holes, and follow instructions given further
on in the assembly procedure. _,:,\. 'r, .

ASSEMBLING TO!!ER k=

Lay out the corner posts the full !englh 01 the tower,
the extension corner posts next tothe anchor posts.

Boltthe top corner posts to the naxuxtfnpbon posts,
using four 3/8" X 3/4" capscrews and nuts for each
splice. Block the corner posts up alleastone foot or
more from the ground to allow for working
underneath with a wrench. .".“

Boll bed plate to upper corner pogls;using 1/2" X 2"
capscrews & nuts and cast iron wéshers inside of
angle. Bolt storm stay between angles with 3/8" X 2-
1/4" capscrews & nuts and corner washers outside
of angies, Nex!, bolt short step #1 girts td outside of
corner posts near storm stay with 3/8" X 3/4"
capscrews and nuts,

The next set of holas is for the platform supports.

Attach with 3/8" X 3/4" capscrews and nuts. Attach
the #2 girt (14-1/4" long) with 3/8" X 1" capscraws
and nuts. These bolts also take the shortest set of
braces on the outside of angles. Bolt #3 girts (25"
long) to hole just below the splice, together with the
second set of braces on the oulside, using 3/8" X 1"a
capscrews and nuts. Fasten lower end of upper
braces to holes above splice with 2/8" X 1"
capscrews and nuts, Next, bolt #4 girts (38" long) ta
the corner posts, also the lower erﬂ' of the second
set of braces, _M

If tower is only 22 foot high, place the wcod girts in
position; but if higher, belt on mbrd {extension
corner posts and girts until tower immpléle. Then
tighten all bolts and all eccentric'washers with a
wrench on the square part. Be caroﬂnqt totighten
| too much. Bolt the ladder sectidns, to-tower and

finish the platform, After mill is placed orfower, put
| in the wood rod and one guide rod.on each side of
the ladder on #3 and #5 girts belowsplices. Adjust
these rods along girts so wood poleswilt'be in line
with mill and pump. Install pulloul«hver assembly
as shown on page 9.

26 & 39 FOOT TOWERS

As stated before, the lower corner posts in these
towers are only 5'-10" long and the lower 15’ of these

towers have two sets of braces, one set starting i
above the anchor posts splice and the next set above "
the next splice or 5'-6” above the lower one, The O
upper end of the boftom braces fasten to the - -

intermediate girts.

Double check to see that the legs are straight, that all :

braces are adjusted, all bolts are tight and pullout
lever Is down to secure the wheel.

LIFT METHOD OF ERECTION

The combined weight range of the 6' & & mills,
assembled on the "B" towers, is approximately 625
to 1425 pounds. A lifting unit of appropriate height
and capacity is the most efficient means of erecting
this assembly. A capable, experienced crane, or
boom truck, operator can easily determine the best
litting point for a particular mill/tower assembly.
Use guy ropes to steady the tower and guide it into
place on the anchor posts.

FIGURE 14

LIFTING TOWER WITH CRANE EQUIPMENT

4-POST STYLE "B” TOWERS

BUILDING TOWER FROM THE GROUND UP

N ATTACH PULLOUT LEVER TO THE TOWER

PULLOUT
/ SWIVEL

PULLOUT
— WIRE

PULLOUT
BAIL

NOTE: The Pullout Lever is furnished with the Engine.
The Hinge & Clamp are furnished with tne}ower

. Attach onr.uencl of the pullout wire to the lug' cn the
pullout swwei of the engine. Wrap the lree end
tightly Sb&n}lrna Trim excess.

2. Clamp the uyllcu; lever hinge casting {to corner post PULLOUT
previously deteriined), about 4 feet above the wood LEVER
girt, with 3/8" XJE" capscrews (Tower Fittings). -«

3. Fasten the= pulloui lever to the hinge casting with
the 3/8" X'37) hlnge bolt (with offsel hole in the lever
up), Hrnge bol“s in Tower Fitlings.

4, Attach the pu]rourl)ail to the hole 7" from the hinge
end of the lever “'Raise the lever slightly above the
horizontal and secure pullout wire loosely to the
bail. Wrap 2-3turns only. Fold the lever down. There
should be 5ndhl1y added resistance just beforgthe
bail goes “gver-center”. Adjust pullout wirg!to
achieve thlfs:* Wrap free end tightly 6-8 lurns'ahd

trim the excess wire. .
FIGURE 13

5. Use this extra wire lo form a holdout loop for the
lower end of the lever lo prevent acmdenlany~
turning the mill on.

PULLOUT LEVER ASSEMBLY

sl
=

? CAUTION: ALWAYS USE PERSONAL & EQUIPMENT SAFETY
PRECAUTIONS WHEN WORIS'_m.G ON WINDMILLS AND TOWERS.

!



“

'WARRANTIES.

~30-84 e

SINCE 1878

<EMPSTE TER>

———
INDUSTRIES .
N,
HEATRICE, NE:UHA&K!\

DEMPSTER INDUSTRIES INC.
9% PO Box 848 711 South 6th St
Boalrice, Nebiaska 68310
Tall-Fraa 1-600-777-0212
Phone (402) 223-4026.

. ot :
OEMPSTER warrants fortwalve (12) months from dato of installation or twonty-four (24)
months from date of mamg:mm against defocts in malerial and workmanship, and will
repalr or roplace f.0.b, at snauthorizod DEMPSTEHrnpnM location, any dafoctive parts of the
DEMPSTER w12 Windmill, provided:
1 which P
2. The oil is chang@g)annnnlly using wax-free oil, which pours at -35°F,
3. The hood of the mill eMTnn is kopl secured and in proper position.
4, The Windmill hns_hnntp;bpnlly used and maintained,
5. The defective pfﬂmlrntﬂ:lumad 1o DEMPSTER INDUSTRIES ING.

Inthe event these provisions are nol.cnrllan‘ out, any i d ga is nol d by this
warranty. No allowance &E}:e mae for labor, trandportation or othor charges incurrod in
the replacment of tnb doloctive part. This warranty shall not apply when tha Windmili hoa
been sublect to accident nogligence, alteration, abuse, misuse or acts o God.
CONSEQUENTIAL DAMAGES,IF ANY, ARE SPEGIFlOALLY EXCLUUED FROM THIS
WARRANTY. Some states.do gt allow tha 1 li or
conaequontial damagos, sorthe dbove limitations may nol ainy o you.
)

Any Implied warranties which the purchaser may havo are limited to the warranty period.
Some states do nol allow limitations on how long an impliod warranty j-u!l 50 tl'!e above,
limitation may not apply p!mu
Contact DEMPSTER INDUSTRIES INC. at tho nddress abovo if you havi any quostions
about the covarage of this warranty or service under this worrenty. This \\"!.Fr.tzrlt)fI gives you
specilic lagel rights; you may slso have other rights whlcn vary from slaté lo stale,

LIMITED WARRANTY

On the Dempator No.12 Annu-Olled Windmill
Firat 4 dights of Dale Coda = Menih & Yaar ol Manulacture

|I1ow|ndmrll aro lollowad pracisoly,

711 South 6th Sireel
P.O. Box 848 .

Beatrice, Nebraska
68310-0848

! S . Phone (402) 223-4026
d i Toll-Free Number 1-800-777-0212
! 3 FAX (402) 228-4389

WDUSTHIES
= - INC.

4-POST STYLE “B" TOWERS . 11-

RAISING THE TOWER/WINDMILL ASSEMBLY

"TILT-UP" METHOD

LIFT
TACKLE

STAKES

Uncrate sect!ons and use crale to resl tower on, s0
mill will clear lhp ground when putling it on lower.
Put mill on tower, including wood rod. Belta plank
2" X 6" X 16acrogs bottom end of tower. Drive
stakes firmly al eachend of plank, so plank will not
slide while tower w{t:emq raised. Level the plank by
blocking undar ends

Use a pair olshearstnadc of 4" X 4" lumber about 16"
long, with boltthroligh top ends about 1' from end.
Fasten block and dackle to post securely set in
ground some jﬂst‘y:ce away from bollom end of
tower and mlmewrth center of tower. Fasten rope to
tower just below platform, pass it over shears and
attach to tackle-blocks. Fasten rope to shears s
they will not drop oul as the lower comes up.

Fasten anothér rope to the other side of the towe
below platlorm and lo small tackle block atlached to
a stake driven in ground close o top of tower. Th
line will keep tower from being pulled over.

Attach side guy ropes 1o each side of tower and to,
stakes set in ground, in line with plank bolted t&""
bottom of tower, This will insure against accident,
especially in windy weather.

Before raising lhe lower, make sure all bolls are light?
in tower and mill, all ropes securely lied, all stakess
sel firmly and whee! sccured. The tower may b
raised with a lruck or raclor. Al least lwo men arg;
required -~ one (o drive The power unit and the olhe
Lo play oul the blocks ram Bebiodd

STEADY
ROPES TACKLE

{Each Side)

FIGURE 15

When tower is in a vertical pogition, align the holes in
the two free corner posts with the holes in the
anchor posts and put in the Balts\! Then, pull tower
over jus! a liltle, take out the.plank and fasten the
other two corner posts. 1f afghar posts have been
set properly, the tower will be, plumb and centered
over the pump.

If anchor posts have not n sel before raising
+ lower, raise lower (0 vertlcﬂ‘pa th‘n Then bolt two
anchor posts to the two fre corner posls and let
tower down, so anchor platé&will rest on bottom ol
holes. Pull tower over a little, take out the plank, bolt
on the othar lwo anchor posts-and let tower down,
Mow, see that lower sels pluply: Use a spirit level on
lower girts. or a plumb line*ffom top of tower to
pump, anc amp dirt or rock under anchor plates
that are loo low. I tower is nol centered over pump,
move il over unlil it does. Fill holes and tamp dirt
dirmly and thoroughly. ¥

-Remove the ropes from tower and connect the wood
“pump pole 1o the pump. Remove the lifting gear.

L' g

TSEE FORM 2539 - WINDMILL ASSEMBLY
INSTRUCTIONS -~ FOR COMPLETE DETAILS OF
THE FINAL INSPECTION, OILING AND THE
ADJUSTMENT PROCEDURE PRIOR TOPUTTING
THE WINDUL INTO QPERATION,

*
e




